PCR Lesson 3 Exercises

Exercise A:

Translate the following sentences into Chinese using the SUBJECT (+ bu3 ) + hen3 + ADJECTIVAL PREDICATE sentence structure.

1.
He is not well.
2.
They are very busy.

3.
My older and younger brother are both very busy.

4.
His younger brother is also very busy.

5.
My little brother and his little brother are both fine.

6.
Palanka is busy.

7.
Gubo is busy too.

8.
You are not busy. We are not busy either.

9.
They are both quite fine.

10.
None of them are busy.
Exercise B:

Rearrange the following characters to make grammatically correct sentences. Completely write out each sentence using the SUBJECT (+ ye3) (+ bu4) + dou1 (+ bu4) + hen3 AP (+ ma) sentence structure.
1.
ta1
hen3
ye3
hao3


2.
bu4mang2
wo3 di4di
dou1
wo3 ge1ge

3.
ma
ni3
hao3

4.
ni3men
hen3
mang2
dou1
ma

5.
ye3
mang2
hen3
ni3 ge1ge
6.
wo3men
hen3
dou1
ni3
hao3,
ne?

7.
hao3
hen3
ta1 ge1ge
ye3

8.
mang2
bu4
ye3
hen3
ni3
ma
9.
dou1
hao3
men
hen3
wo3
10.
di4di
hao3
hen3
bu4

Exercise C:

Choose the most appropriate word to complete the sentence. Write the word in the blank provided.
1.
Ni3 mang2 _____ ?


ma
ne
ye3
dou1
2.
Ta1 _____ mang2.


bu4ye3
bu4hen3
dou1
bu4dou1
3.
Ta1men dou1 _____ hao3.


mang2
hen3
ne
ma
4.
Wo3men ye3 dou1 _____ hao3.


mang2
hen3
ne
ma
5.
Wo3 hen3 mang2. Ni3 _____ mang2 ma?


ye3bu4
hen3
dou1
ye3hen3
6.
Wo3 ge1ge, wo3 di4di _____ hen3 mang2.


hao3
dou1
ye3
mang2
7.
_____ dou1 bu4 mang2 ma?


ta1
ni3
ni3ye3
ni3men
8.
Ni3men dou1 hen3 mang2 _____?


ne
hen3
ma
ye3
9.
Ni3 ge1ge hen3 mang2, ni3 di4di _____ ?


mang2
hen3
ne
ma
10.
Ni3men hen3 _____ ma?


ne
hen3
mang2
ye3
